
EPIB.A.lMinor/Cor/2nd Sem.lPLSMINW2T IPLSC0R202T 12024

WEST BENGAL STATE UNIVERSITY
B.A. Minor/Cor 2nd Semester Examination, 2024

PLSMIN202TIPLSC0R202T-POLITICAL SCIENCE

The figures in the margin indicate full marks.
Candidates should answer in their own words
and adhere to the word limit as practicable.

Full Marks: 50
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1. Answer any two questions taking one from each unit: (within 100 words each)
~~~ ~<ml$tf.irnOf~ 1[$ ~~itl-e~ (~~oo ~~~)

UNIT-I
(a) What are the methods by which citizenship of India can be acquired?

~ ~ ~ 1!iI"i~lm\S1'Sl(o\!)'Sl-.n~ *~? .
(b) Are Fundamental rights absolute? Justify your answer.

~ ~~~~ ~? ~~~9frJf ~itl-e I

UNIT-II
(c) Write a short note on the discretionary powers of the Governor.

~~ ~~ ,*~~I'Sl \S~ ~~~~~ ~tl
(d) Give an outline of the original jurisdiction ofthe Supreme Court ofIndia.

\S1'Sl~~ ~~ ~ ~ ~~ ~~ ~~~ l'ft-eI

2. Answer any four questions taking two from each unit: (within 350 words each) 10x4 = 40
~~~ ~~$tmOf~ ~ ~~lfte~ (~~<?:O ~~~)

UNIT-I
(e) Analyse the significance of the Preamble to the Constitution ofIndia.

\S1'Sl~~ ~R~ ~1&1:q~I'Sl~9f4' ~'1 ~ I
(f) Evaluate the Right to Liberty as mentioned in the Constitution of India.

\S1'Sl~~ ~fcl~ ~ ~ ~<tll~~~ ~G1JI~~~ I
(g) Mention the differences between the Fundamental Rights and the Directive

Principles of State Policy.
~ ~~ -e ~ ~~~~<tl ~ ~ '9ft~~~~~1

(h) Briefly discuss the distribution of legislative powers between the Centre and the States.
~ '(3~m ~ ~ ~~ ~~ ,*~~I'Sl ~~ ~~ ~~ '6I1tG11t)~1~ I

UNIT-II
(i) Discuss the powers and functions of the President of India.

\S1'Slt\!5'Sl~~ ~ '8 <tll~;qr.il '6IltG11t)~t~ I
(j) Discuss the composition and functions of the Lok Sabha.

CG11<tlJ1~I'Sl~ -s <tll~;q~ '6IltG11b~1~ I

(k) Discuss the powers and role of the Governor of the States.
'6I!Jt'Slltetj'Sl~~ ~ ~~\ ~ '6IltG1I"~1~ I

(1) Discuss the composition and functions ofthe High Court.
~~C<tlltij4JI~ -s <fil~cq~ '6I1tG11t)~1~ I
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